Practice Stoichiometry Problems 

1. Given the reaction below, how many grams of ClNO2 can be made from 45.2 g of N2O4? 

N2O4 + Cl2 ---------> 2 ClNO2 


2. Acetylene, C2H2, can be used to prepare cyclopentadienone, C5H4O, using a catalyst. The reaction is: 

2 C2H2 + CO -------> C5H4O 

3. How many grams of acetylene are needed to prepare 150 g of cyclopentdienone? 


4. Butane, C4H10 is a common fuel for heating rural homes in areas not serviced by natural gas sources. The equation for its combustion is:

2 C4H10 + 13 O2 -----> 8 CO2 + 10 H2O.

a. How many moles of oxygen are required to burn 3.4 moles of butane?

b. How many moles of carbon dioxide will be produced in the burning of 4.68 moles of butane?

c. How many moles of water will be produced along with 0.568 mole of carbon dioxide?

d. How many grams of butane can be burned by 1.42 moles of oxygen?

e. 9.43 grams of oxygen are used in burning butane. How many moles of water result?

f. Calculate the number of grams of carbon dioxide that will be produced by the burning of 78.4 grams of butane. 

g. How many grams of oxygen are used in a reaction that produces 43.8 grams of water?


5. A reaction that produces great heat for welding and incendiary bombs is the "thermite" reaction: Fe2O3 + 2 Al -----> Al2O3 + 2 Fe. How many grams of Fe2O3 can be converted to aluminum oxide by the reaction of 47.1 grams of aluminum?

